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Name ________________________________ Class ___________ Date _________________
6.2 Part 3 Parallel &
         Perpendicular Lines
No Work = No Credit
11.
e. perpendicular to line s and through point (0, 0)
a. line r



b. line s



c. parallel to line t and through point (0,3).





d. perpendicular to line u and through point (-2, 4)
10.
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The line containing points X(8, —3) and Y(—4, —6).
The line containing points R(1, 4) and S(—3, —3).
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The line containing points K (—1, 0) and L (2, 6).
The line containing points M (4, 2) and N (3, 0).
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Determine whether each pair of lines is parallel, perpendicular or neither.
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Find the slope of a line parallel to the given line and a line perpendicular to the given
line.
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The line containing (2, —4) and (5, 1).
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5x—-5y=10
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—2x+y=2
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Ty=x+7
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GEOMETRY A parallelogram is created
by the intersections of the lines x = 2,
x=6y= %x + 2, and another line. Find
the equation of the fourth line needed to
complete the parallelogram. The line
should pass through (2, 0). (Hint: Sketch
a graph to help you see the lines.)
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Write an equation in slope-intercept form for each line shown or described.
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y=2x+1_
2y=—x—1
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y=2x+1_
2y=—x—1
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dx—y=2__
8x—2y=-6
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dx—y=2__
8x—2y=-6
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